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Questions
1 |Inthe circuit shown in fig.1 determine all branch currents by mesh current analysis.|  [10] Co1 L2
Fig.1
10 A
2 Use loop analysis to find Vx in the circuit shown in fig.2. Such that the current [10] Co1 L3
through 2 +j3 Q is zero.
Fig.2
LW
3 | Using superposition theorem find the voltage drop across 2 Q resistance of |  [10] Co1 L2
the circuit shown in fig.3.
Fig.3 40 30
10VvQE) 50 S0 2A
4 | Find the Thevenin and Norton equivalent for the circuit shown in fig.4 with [10] Co1 L3
respect terminals A-B
Fig-4 1002 20 A
v
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5 Find the value of R. at which maximum power is transferred to the load in [10] CO1 L2
the following circuit shown in fig.5. Also, find the maximum power
transferred.
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Obtain the z parameters for the network in Fig. 6. [10] COo2 L2
Fig.6.
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Find the y parameters of the two-port network shown in fig.7. Then| [10] CO2 L2
determine the current in a 4Q load, that is connected to the output port when
a 2A source is applied at the input port.
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